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1.

SECTION A (40 MKS) COMPULSORY

Question one

Distinguish between the following terms; (6 marks)
a. Exploratory data analysis and classical data analysis

b. Measures of central tendency and measures of dispersion

C: Mode and median

In a common test for which the pass mark is 30, the distribution of marks of passing candidates

classified by sex were given below;

Marks 30-34 35-39 40-44 45-49 50-54 55-59
Numberof |5 10 15 30 5 5
students
Determine;
a. Standard deviation (8 marks)
b. Coefficient of variation (2 marks)

The number of birds visiting a bird table was counted each minute for 15 minutes. The

distribution was as follows;

9.,4,7,5,3,8,6,5,8,10,5,6,5,8,10

Find;

a. Mean (3 marks)
b. Mode (1 marks)
c. Median (1 marks)
d. Comment on the skewness of this distribution. (7 marks)

The table below shows Total fertility Rate (TFR) from 1999 census of Kenya by age group
as at 24™ August 1999;

Age 15-19 209-24 25-29 30-34 35-39 40-44 45-49
group
TFR 3 5 4 7 6 4 2

a. Define a Histogram, hence represent this information on a Histogram (6 marks)

b. Define a Frequency Polygon, hence represent this information on a Frequency Polygon

(6 marks)




SECTION B (ANSWER ANY TWO QUESTIONS)

QUESTION ONE (15 MKS)

The masses of fish caught by fishermen in a day are as shown in the table below

Mass (Kg) | 0—-4[5-9[10 14[15-19]20-24|25-29|30-34|35-39

No. of fish | 2 6 20 12 10 5 6 2
a. Compute the first three moments about the mean (9 marks)
b. Comment on the Kurtosis of the data above (6 marks)

QUESTION TWO (15 MKS)
a. State 3 advantages and 3 disadvantages of arithmetic mean as a measure of central tendency.

(6 marks)
b. Below is the frequency distribution which resulted when the weight (in Kg) of 50 calves in a dairy

farm were measured;

Weight 170 172.5 175 177.5 180 182.5 185 187.5 190
Frequency 1 2 4 6 8 9 7 6 7
Determine;
i. Mean using assumed mean (3 marks)
ii. The median (3 marks)
iii. The upper quartile (3 marks)
QUESTION THREE (15 MKS)
a. State and describe the major tasks in data mining. (6 marks)
b. Determine the mean deviation of the following data; (9 marks)
Marks 0-10 10-20 20-30 30-40 40-50
No. of students 10 25 30 20 15







